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SubByte(H}O|E CHA|)

Ao | Fo aa{z dj 3 bn,n b0,1 b\,z bn,a
Ao | Aql| G2 [ D3 bua bu b1,2 b1,3
Do | Fog | oo | Aa bz,n b2,1 bz,z bz,a
A3 | 931 | P32 | U35 ba,n b3,1 ba,z ba,a

712! 4-11 » SubBytes(HIO|E CHA])
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Al | A2 A# Ad Al | A2 A’i Ad

Bl [ B2 | B3 | B4 B2 | B3 | B4 | B
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D1 ( D2 | D3 | D4 D4 | D1 | D2 | D3
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Qo | Qo] Qo2 [[903 ba,a Oy ¢ [ Bo2 |l Pos
Ao | Aall G2 [[913 b, 0 bu D, 2 b, 3
Do | i l| G2 |93 bz,a b2,1 bz,z bz,a
A3 | 9311| F32 [[933 ba,a D, | ba 2 {1034
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Ao | Q1| o2 | A3 bo__o b0,1 bo,z bo,a
Ao | Sal| G2 |For C) hl__u hl,q b1,2 b1,3
Ao | G | G2 | Fa bz__o b2,1 bz,z bz,a
30 | F31 | F32 | B3 ba__o b3,1 ba,z ba,a

ko,_o ko,1 Krl_.z Ko

Ky_o ku k1,2 Ky_a

Kz,o k2,1 K; 2 Kz,_a

ka__o k3,1 ka,z ka__a
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B2 | B3 | B4 | B
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D4 | D1 | D2 | D3

E! 4-16
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2 4-17 » InvSubBytes(& HIO|E CHA))
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